HSC 2001 - Community and Family Studies

Question 6

6 Which of the following best describes the GIFT process?

(A) Eggs are fertilised using donor sperm.
(B) A sperm is injected directly into an egg as part of micro-insemination.
(C) Eggs are retrieved and then fertilised before being returned to the body.

(D) Egg and sperm are transferred directly into the Fallopian tubes, where fertilisation
takes place.

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 15.9 8.8 71 2.9 0
B 222 13.2 6.6 5.9 0
c 254 26.5 19.8 12.5 5.3
D 36.5 51.5 66.5 78.7 94.7
N 0 0 0 0 0
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Band 1/2 Band 23 Band 3s4 Band 445 Band 5.5

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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